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"Full Marks : 80
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. The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following’ questions as directed : .

(any ten) 1x10=10
. (Rt weby) '

(a) The process of converting the message
- into communication symbol is known as
(Choose the correct answer)
AT RN B2t Fistran woay eiferie
CPINC! AR & g
(i Bewehr 7R Biveay)
(i) encoding : ‘
6T ergeRe
Contd.




®)

- (i) .decoding

SR
(iii) transmission
- ceRet
(iv) recodiﬂg
S Ao

Informal communication is characterised
by which of the following distinctiveness ?

(Choose the correct answer)

'wmmﬁm%ﬁm@mmtaﬂ@ﬁ

mw’mf%asﬁaenﬁp
(m%@wwﬁwaf)

(i) Task-oriented

(i) People-oriented

(iii) Position-oriented
2 o

(w) Structure- -oriented

ﬁ?ﬁﬁﬁ
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(c) Motivation is a stimulation of mind under

the management function of
(Choose the correct answer)

el @ TP SR Rttt Rrsre
CRRITES! ARBERR I TWGe ?
(73 Tewcsr R Bvew)
(i) - directing -
(ii) - organising
ARG IR
' (iii) controlling i
(iv) éo-ordinatihg
S
(d) Control exercised by lower level managers
is (Choose the correct answer)
AT SAROTTOReR TRt SepTew 391 R
et i+ Ewb‘r AR BfFeq)
(i) strategic level control
e s Raga
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(i) tactical level control

e siffem fmae

(i) operating level control
I SRR
(iv) None of the above

evﬁa@mm@%:m :

Which one of the followmg human needs

of Maslow’s theory also finds recognition
in the motivational theory of MeClelland ?
' " (Choose the correct answer)

G wer S TR BTG TOPTR
CRIS comiBt o rfergenay ol Sl
S S S iR

(13 Ty R BFA)

() Psychological need

(i) Security neeq
(i) Social neeq

(iv) Ego need
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1] Which of the following roles of a manager .
is important to defeat grapevine?
(Choose the correct answer}

g ofs ecmETmy
' (1% BeaH! alfi Clerean)
| () Management role
RO ghRe
- (i) Interpefsohal role
(i) Informational role
o @I gl

(iv)] Decisional role

 PraieeR SR

. (g) Providing information to top management
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by financial manager is his/her
(Choose the correct answer)

A ARG TGS SAR Q@SN <RI Ry
Ao s (A% e ARk Bfea)

(i) recurring function

coTmeofis IR
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(i) Nonrecurring function -

SRS PR

* (i) routine funcﬁon

e it
(iv) advisory fi.lnction

SATPIETS

Which. of the following is a part of
financial dec151on-mak1n ?

(Choose the correct answer)

O G R8I P e i 2
o (1B G e ST

_(1) Investment decision
Rifwsm S

(i) Financjg] decision
R g

()  Divideng decision
T R g

O
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' Which of the following is not included in

demographic segmentation of market ?
(Choose the correct answer)

 FICAIS P! SR SRS T T
suge T (10 Gewd AR B
(i) Gender

[GE]
© (i) Age
S

(iii) Eduéatibn |
P
(iv) Culture -
s
Who introduced the ‘concept of

‘marketing mix’? ‘
~ (Choose the correct answer)

TR T YR it v R 2
- (9% et AR Sfavsay)

() William J. Santon

TP (. (5o
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(i) - Philip Kotler
. et F'BeR

(i) Henry L. Hemen

Fast food outlets like KFC is an example
of which marketing technique ?
‘ (Choose the correct answer)

T A Rl % @ KFC, Resie R
ot Amfo e (wﬁva@vmwaﬁe@ -

R . W (i) Product franchlslng
" (iv) N. H. Borden A iR
k!F{ G35 IO (i) Business—format franchising
: TG 22O FHiRRR
‘Mobile hand-set’ is an example of (i) E-commerce
' (Choose the correct. answer) - ! E-F6
! . ,
TR (= P m@mw%ﬁiﬁ:; ! lf, (iv) Retailing
(3 Tewhr R Bed) e ' ' '
. | _. S R Rl -
()  perishable goods ' | . | 4 end h
- , m Marke’ung egins and ends wi
TR AN - fm) - (Fill up the gap)
(i) non-durable goods o W‘i s o ﬁi‘ | 35 —j
LEEIR - CoeE=EL T 737
| . () The sole trader’s liability for the debts
(uz) durable goods ™ of the business is . .
! R AR (Fill up the gap)
b o . | - Wm«mmﬁw_l 3
H (i) None of the above st (T} 12 o3 )
r‘b' | B - BIRIS dhre ey .
! ’ ' . _ BOM/G 9 Contd.
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. ®
The Indian Partnership Act, which
governs the formation and management
of partnership organisation in India.
(Fill up the gap)

SO SR SR

_ 3 TS TS
ST PN 9107 =< ARG = |
(3T 3% 779 F9)

The maximum number of partners

must be _____for a firm carrying on
banking business. (Fill up the gap)
GRRR PR B A oo SIS

S 2 | (#ﬁﬁjﬁfﬁ‘fﬁf)

A partnership is the result of an
agreement Which can be oral or written.

(State True or False)
SRR AR GRS <1 fife pleart 515

e ; (8% & o5 &)

A shareholder is an agent of the
company. (State True or False)
GG TR @R oS =T |

(8% 1 Sog [0)
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(s) Joint stock company’s shares are easily

(t)

transferable. (State True or False)

Joint stock company3¥ Wi"l“’i@’l‘[{ LS
I I {1 (9% T 99% f&3).

Planning involves an intellectual
~ exercise. (State True or False)

wﬁwm@ﬂ—aﬁa eI |
(8% @ 99% f&3))

Answer the following questions brieﬂy:

(any five)

2x5=10

esrew 53 e fxt ¢ (Rewiear ohsor)

(a)

(b)

(c)

(d)

What is service sector ?

R e, 3w R e

‘What is globalisation ?-
NP T & 2

What do you mean by outsourcmg?

z@%&ﬂ%ﬁ?ﬁ?ﬂl

Define sole trading business.

siiz-afba IR el faa |

Contd.




(e) . Write a note on joint: Hindu family

(9)

™

)

®
firm.

T 27, ~AREIeT PR @wire B, et v |
What is matrix organi‘sation 2

Matrix organisation W= & ﬁ‘ﬂl

What is delegation. of authonty ?.
59 o e 2 -

Define leadership.

© (TPeR Rl ot

What is SEBI?
SEBI W& &

What is E-commerce ?

E-commerce Wi & ¢

Write ehort answers to any four of the

following : Sx4=20
o fceeat G115 Tes Bt o
(a) Write a note on social responsibility of

business..

AR I AT @siw Bt (B forat |
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(b)

RC

(@)

Write the features of franchising. -
@R @R Frl

Write the irhportance Of_ delegation of
authority.

'?Wg W\%@WWI :

What are the problems associated with

'small enterprises ? Explain.

T&Wﬂﬂ{@ﬁﬁ‘@ﬁfﬂ?{ﬁﬂﬁ{iﬁ” .

3|

-(e)

' State the merits and demerits of equity’

share

| wa«twﬁaﬁmmwlﬁwmw

(9)
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1.
Write a note on ‘Make in India’
Movement. ’

Make in India’ SITHIES 84S «b! (G

. ﬁf*ﬁl

State the limitations of planning.

Wﬁmwmmmml

" Contd.
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(h) Briefly explain the Herzberg two-factor
theory.

Herzberg two-factor ©gb] DN 17 91 |

4.  Write long answers to any four of the
. following : 10x4=40

O Rz bifbre 95eE Tew i g

(@) Explain the steps of need in A.H
Maslow’s need hierarchy theory of
~-motivation. Also enumerate the merits

and limitations of the theory.

Q. @y AGET welifrosT mETeR
FABGO! O ATAGARIOR T 12y 7541 |

FTITS SFCO e Wi SRR Bz 4 |

(b) Describe various barriers to
.communication. What measures would

you suggest to overcome such barriers ?

| - @R e efetsmeiar adf ) qr
SERE ﬁI\QQQQSQIﬁS‘QWW%%W
igiatii: -
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(c)

(d)

(e)

Explain four basic principles of
decision-making. Also state the
approaches in decision-making.

s l2eRRI 510 3 A 1 | <Toive
Praie 520l FRIS AL AT 301 <5 |

Explain the various bases of
departmentation. Also state the benefits

of departmentation.

Rroiaees fifer fefenz 2 <l |
oIl JRIPRR B 4 |

Define partnership. Explain its major

advantages and disadvantages.
SRR e FeEE fra | 2 2 R e
SR{REPTIRE T |

‘What is sole proprietorship ? State its

features. Explain the advantages and
limitations of this form of business

organisation.

G I A & 2 2 @y e
Sl RS R S SRAITIRS it
faal | _
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X
(g) Define human resource 'management.
Explain 1ts functlons

wmﬂﬁmw\wmnmwﬁ
WWI K

(h) What is - meant by financial -
management ? Discuss the objectives
of financial management.

ﬁ@wﬁsmmﬁsqwﬁ@wﬁmm
TOPIPR S <t

(i) What is pricing ? Bneﬂy explain the

various pricing pohc1es adopted by
- companies.

T A & o Wnﬁqs@mﬁ%ﬁﬁ 4
Wﬂ\mﬂWWI

() What'is product life cycle ? What are -

the different stages of product life
cycle ? '
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